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1. You are first in line to have your question
answered by either of the 3 uGSI Yiming,
Brian and Rowan, whose wait time to be
seen, Y, B and R, are independent and ex-
ponentially distributed RVs with rates Ay, Apg,

and A respectively. P(Y < B < R) is?

Ay +Ap
Ay +Ag+AR

Ay > AR
\yv+Ap+AR AB+AR

Ay AB
c Av+Ap X AB+AR

d none of the above
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FIGURE 3. Density of the Rayleigh distribution of R.
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1. From the "interesting calculation” involving

X,Y iid N(0,1) you can conclude:

a fy(x) = ce /2 = ﬁe‘“jﬂ

Kb VX?2+Y?is Exp(3)
/ v X2 +Y?is Rayleigh
@nore than one of the above

is a density
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